Manual / Handleiding / Montageanleitung

Metaflex BDM
Metaflex KDM Chiller
Metaflex VDM Freezer

201473

English Translation of the original Dutch Manual
Montageanleitung tibersetzt aus dem Niederlandischen

Metaflex. Meet reliability.



‘ | S books

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 2 of 24 metaflex Meet reliability.
>



Foreword

This manual describes the assembly of a Metaflex BDM, KDM or VDM hinged door. The information in this manual is important for
the good and safe functioning of the door system. Read this user manual thoroughly from cover to cover. Furthermore, Metaflex
Doors Europe urges that all new users (operators, installers, maintenance staff and where applicable cleaning staff) should receive
training, for which this user manual may serve as a basis.

Metaflex Doors Europe advises that the original copy, including its attachments, should be stored in a safe, central place. Another
copy of this user manual should be stored close to the apparatus in the workspace. If these things are already known to you, then
you can use this manual for reference.

The assembly instructions are intended for technical personnel who have at minimum a level 2 MBO (secondary vocational
education) certificate.
The maintenance instructions assume that the maintenance staff have been authorized by Metaflex Doors Europe.

This warning sign indicates points which require special attention during assembly.

Save this manual so that you can consult it in future.
Specifications

Product description
Serial number: Indicated on the door's type plate
Variants: Metaflex BDM

Metaflex KDM Chiller

Metaflex VDM Freezer

Operating conditions

Various applications including cold storage (KDM and VDM).

Areas of application

Chemical industrial, Food industry, cold stores

Dimensions

Variable clear width x clear height, up to a maximum of 1300 x 2300 mm.

Lifespan

15 years when maintained according to Metaflex Doors Europe's maintenance guidelines.

Weight

The weight of the BDM, KDM or VDM depends on the clear width and height. The maximum weight is 55 kilograms.
Assembly options

Steel, stone, panel wall (through the wall), provided they are suitable for carrying the weight of the door.

Safety guidelines
General guidelines

Always wear dry work clothes and safety shoes.

Work may only be carried out if the legal regulations which apply on location are observed.

Always place warning signs when carrying out work so that the door cannot be opened unnoticed.

Use only original components and accessories.

Don't change anything about the way in which the door is constructed. If you do, the manufacturer warranty will cease to
apply. All claims on the warranty due to failure will be rejected.

6. Contact the Metaflex Doors service department or an authorized representative of Metaflex Doors before changing
settings. All settings are configured by Metaflex Doors in advance on the basis of average values or values that have been
agreed with you. If a setting is incorrect, this can lead to the controls or sliding door becoming damaged.

vk wn e

Transport and storage

Transport
Metaflex Doors takes care when packing the products. The door (systems) and/or automatic machine are shipped in crates or on
pallets. During transport, no other goods may be laid on the Metaflex packaging. Be careful not to shake the packaging.

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 3 of 24 metaf lex Meet reliability.



Storage

The door (systems) and/or automatic machine should be stored in their original packaging in a dry and frost-free space.

Fastening materials

Depending on the chosen door and configuration, the following fastening materials will be delivered along with it.

200333
200334
200335
200336
201387

Assembly kit MK hinged door steel — stone
Assembly kit reveal WD 60 to 100
Assembly kit reveal WD 110 to 150
Assembly kit reveal WD 160 to 210
Assembly kit frame POK hinged door

Only for VDM doors

HA08080/050

Azobe blocks (the number is dependent on the door width)

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 4 of 24

metafl
94

DOORS

Meet reliability.



Voorwoord

Deze handleiding beschrijft de montage van een Metaflex BDM, KDM of VDM draaideur. De informatie in deze handleiding is
belangrijk voor het goed en veilig functioneren van het deursysteem. Lees deze gebruikershandleiding van het begin tot het einde
goed door. Metaflex Doors Europe dringt er tevens op aan dat alle nieuwe gebruikers (operators, installateurs, onderhoudsmensen
en evt. schoonmakers) een training krijgen, waarbij deze gebruikershandleiding als uitgangspunt kan dienen.

Metaflex Doors Europe adviseert dat het origineel van deze gebruikershandleiding inclusief bijlagen op een veilige centrale plaats
wordt bewaard, een ander exemplaar of kopie van deze gebruikershandleiding kan het best dicht bij het apparaat op de werkplek
worden bewaard. Bent u wel bekend met deze zaken, dan kunt u deze handleiding als naslagwerk gebruiken.

De montagehandleiding is bestemd voor technisch personeel opgeleid op minimaal mbo-2 niveau.
De onderhoudsaanwijzing gaat er van uit dat het onderhoudspersoneel geautoriseerd is door Metaflex Doors Europe.

Met dit waarschuwingsteken zijn punten gemarkeerd die tijdens de montage extra aandacht vragen.

Bewaar de handleiding zodat u deze in de toekomst kunt raadplegen.
Specificaties

Productomschrijving
Serienummer: Staat op het typeplaatje van de deur
Varianten: Metaflex BDM

Metaflex KDM Chiller

Metaflex VDM Freezer

Gebruikersomstandigheden

Diverse toepassingen waaronder gekoelde opslag (KDM en VDM).

Toepassingsgebieden

Chemische industrie, Voedingsmiddelen industrie, koel- en vrieshuizen

Afmetingen

Variabele dagmaatbreedte x dagmaathoogte tot een maximale afmeting van 1300mm x 2300mm.
Levensduur

15 jaar bij onderhoud conform onderhoudsvoorschriften Metaflex Doors Europe.

Gewicht

Het gewicht van de BDM, KDM of VDM is afhankelijk van de dagmaatbreedte en dagmaathoogte. Het gewicht kan maximaal 55
kilogram bedragen.

Montagemogelijkheden

Staal, steen, paneelwand (door de wand), mits geschikt om het gewicht van de deur te dragen.

Veiligheidsvoorschriften

Algemene voorschriften

1. Draag altijd droge werkkleding en veiligheidsschoenen.

2. Werkzaamheden mogen uitsluitend worden verricht met inachtneming van de ter plaatse geldende wettelijke
voorschriften.

3. Bij werkzaamheden altijd waarschuwingsborden plaatsen zodat de deur niet ongemerkt geopend kan worden.

4. Gebruik alleen originele onderdelen, opties en accessoires.

5. Breng geen wijzigingen aan in de constructie van de deur. Aanspraken op de fabrieksgarantie vervallen in dat geval. Alle
aanspraken voortvloeiend uit het falen worden afgewezen.

6. Neem contact op met de service afdeling van Metaflex Doors of een door Metaflex Doors gemachtigde

vertegenwoordiging, voordat u een instelling wijzigt. Alle instellingen zijn vooraf door Metaflex Doors ingesteld op basis
van gemiddelde of vooraf met u overeengekomen waarden. Bij foutieve instelling kan beschadiging van de besturing of
de schuifdeur optreden.

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 5 of 24 metaf lex Meet reliability.



Transport en opslag

Transport

Metaflex Doors besteedt zorg aan het verpakken van de producten. De deur(systemen) en/of automaat wordt in kratten of op
pallets verzonden. Tijdens het transport mogen er geen andere goederen op de Metaflex verpakking worden gelegd. Wees
voorzichtig met schokken.

Opslag

De deur(systemen) en/of automaat opslaan in de originele verpakking in een droge en vorstvrije ruimte.

Bevestigingsmaterialen

Afhankelijk van de gekozen deur en configuratie, worden de onderstaande bevestigingsmaterialen meegeleverd.

200333
200334
200335
200336
201387

Montageset MK draaideur steen — staal
Montageset dagkant WD 60 t/m 100
Montageset dagkant WD 110 t/m 150
Montageset dagkant WD 160 t/m 210
Montageset kozijn POK draaideur

Enkel voor VDM deuren

HA08080/050

Azobe blokken (het aantal is afhankelijk van de deurbreedte)

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 6 of 24 metaﬂ Meet reliability.



Vorwort

Diese Montageanleitung beschreibt die Montage einer Metaflex BDM, KDM oder VDM Drehtiir. Die Informationen in dieser
Anleitung sind flr das reibungslose und sichere Funktionieren des Tiirsystems wichtig. Lesen Sie die Montageanleitung aufmerksam
und vollstandig durch. Metaflex Doors Europe hélt es auRerdem fir essentiell, dass alle neuen Benutzer (Operatoren, Installateure,
Wartungspersonal und evt. Reinigungskrafte) eine Schulung erhalten, fir die diese Anleitung als Ausgangspunkt dienen kann.

Metaflex Doors Europe empfiehlt, das Original dieser Anleitung einschlieflich Anhangen an einem sicheren, zentralen Ort
aufzubewahren. Ein anderes Exemplar oder eine Kopie dieser Anleitung sollte in unmittelbarer Ndahe des Gerates oder
Arbeitsplatzes aufbewahrt werden. Sind Sie bereits mit diesen Dingen vertraut, kénnen Sie diese Anleitung zum Nachschlagen
verwenden.

Die Montageanleitung ist fiir technisches Personal mit einer Ausbildung auf MBO-2-Niveau bestimmt (entspricht in etwa der dualen
Berufsausbildung in Deutschland).
Die Wartungsanleitung geht davon aus, dass das Wartungspersonal von Metaflex Doors Europe autorisiert wurde.

Dieses Warnsymbol kennzeichnet Punkte, die wahrend der Montage besonderer Aufmerksamkeit bediirfen.

Bewahren Sie diese Anleitung sorgfaltig fur eine zukinftige Verwendung auf.

Spezifikationen

Produktbeschreibung
Seriennummer: Steht auf dem Typenschild der Tur
Varianten: Metaflex BDM

Metaflex KDM Chiller

Metaflex VDM Freezer

Gebrauchsbedingungen

Diverse Anwendungsbereiche, darunter Kiihllagerung (KDM und VDM).

Anwendungsbereiche

Chemische Industrie, Nahrungsmittelindustrie, Kiihl- und Gefrierhallen

Abmessungen

Variable lichte Breite x lichte Héhe bis zu einer maximalen Abmessung von 1300 mm x 2300 mm.
Lebensdauer

15 Jahre bei Wartung gemaf den Wartungsvorschriften von Metaflex Doors Europe.

Gewicht

Das Gewicht der BDM, KDM oder VDM héngt von der lichten Breite und lichten Hohe ab. Das Gewicht kann maximal 55 kg
betragen.

Montagemoglichkeiten

Stahl, Stein, Paneelwand (durch die Wand), insofern Tragfahigkeit fiir das Gewicht der Tir vorliegt.

Sicherheitsvorschriften

Allgemeine Vorschriften

1. Tragen Sie immer trockene Arbeitskleidung und Sicherheitsschuhe.

2. Arbeiten dirfen ausschlieBlich unter Einhaltung der 6rtlichen Vorschriften und Gesetze ausgefiihrt werden.

3. Wihrend Arbeiten immer den Sicherungsautomaten ausschalten und Warnschilder platzieren, sodass die Tir nicht
unbemerkt gedffnet werden kann.

4, Verwenden Sie ausschlief8lich Originalteile, Optionen und Accessoires.

5. Bringen Sie keine Anderungen an der Konstruktion der Tiir oder Steuerung an. Ein Anspruch auf die Fabrikgarantie
erlischt in solchen Fallen. Jegliche Haftung flr Folgen des Versagens wird ausgeschlossen.

6. Wenden Sie sich an die Serviceabteilung von Metaflex Doors oder einen von Metaflex Doors autorisierten Vertreter,

bevor Sie eine Einstellung andern. Alle Einstellungen werden vorab durch Metaflex Doors auf der Grundlage von
Durchschnittswerten oder mit lhnen vereinbarten Werten vorgenommen. Falsche Einstellungen kdnnen Beschadigungen
an der Steuerung oder Schiebetiir verursachen.

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 7 of 24 metaf lex Meet reliability.



Transport und Lagerung

Transport

Metaflex Doors verpackt Produkte mit groRter Sorgfalt. Die Tir (-systeme) und/oder der Automat werden in Kisten oder auf
Paletten verschickt. Wahrend des Transports diirfen keine anderen Waren auf die Verpackung von Metaflex gelegt werden.

Vermeiden Sie Erschitterungen.

Lagerung

Die Tur(-systeme) und/oder den Automaten in der Originalverpackung an einem trockenen und frostfreien Ort lagern.

Befestigungsmaterial

Je nach ausgewahlter Konfiguration werden die untenstehenden Befestigungsmaterialien mitgeliefert.

200333 Montageset MK Drehtiir Stein — Stahl
200334 Montageset Innenseite WD 60 bis 100
200335 Montageset Innenseite WD 110 bis 150
200336 Montageset Innenseite WD 160 bis 210
201387 Montageset Rahmen POK Drehtiir

Nur fiir VDM Tiren

HA08080/050 Azobe Blocke (Anzahl ist abhdngig von der Turbreite)

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 8 of 24

metafl
94

DOORS

Meet reliability.



Tools required / Benodigde gereedschappen / Erforderliche Werkzeuge

1'4"_.*- i
b

bl

@ 525710

S4SEISE

S1HIITIS19524 S1IF1TIE19/524

7
Al == | ¥

=30 ||II|

Necessary PPE / Benodigde PBM’s / Erforderliche PSA

Safety goggles / Veiligheidsbril / Schutzbrille

Helmet / Helm / Helm

Hearing protection / Gehoorbescherming / Gehérschutz

Safety shoes / Veiligheidsschoenen / Sicherheitsschuhe

CROC®

Gloves / Handschoenen / Handschuhe

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 9 of 24 metafl

Meet reliability.



Assembly instructions / Montage instructies / Montageanleitung

The following pages contain step-by-step assembly instructions. The installation of the BDM 60 and KDM 80 is identical. There are,
however, a number of different frames. Before commencing installation, you must first check the frame in question. The frame to
be installed is a Profile Including Frame or an Assembly Frame. In addition, the frame may be 3 or 4-sided. The manual will indicate
which steps must be carried out for 3 and 4-sided frames by means of logos.

The assembly of the door blades is the same in all circumstances, because all door blades are fixed to the frame by means of a
block hinge. In the manual, the BDM 60 door blade is installed, but these steps also apply to the 2-leaf version or to the KDM 80
door blade.

De volgende pagina's bevatten een stapgewijze montage instructie. De installatie van de BDM 60 en KDM 80 is identiek.Er is
echter een aantal verschillende kozijnen. Voordat aan de installatie wordt begonnen, moet eerst gekeken worden welk soort kozijn
het betreft. Het te installeren kozijn is een Profiel Omvattend Kozijn of een Montage Kozijn. Verder kan het kozijn 3 zijdig of 4 zijdig
zijn. In de handleiding wordt aangegeven welke stappen bij de 3 zijdige en welke bij de 4 zijdige horen d.m.v. logo's.

De montage van de deurbladen is in alle gevallen gelijk, omdat elk deurblad met een blokscharnier aan het kozijn bevestigd moet
worden. In de handleiding wordt het deurblad van de BDM 60 geinstalleerd, maar deze stappen gelden ook voor de 2 vleugelige
uitvoering of voor het deurblad van de KDM 80.

Die folgenden Seiten enthalten eine schrittweise Montageanleitung. Die Installation der BDM 60 und der KDM 80 ist identisch. Es
gibt allerdings eine Reihe unterschiedlicher Tlrrahmen. Vor der Montage muss also erst geprift werden, um welchen Tlrrahmen
es sich handelt. Der zu montierende Rahmen ist ein profilumfassender Tirrahmen oder ein Montagerahmen. Der Rahmen kann
dariber hinaus drei- oder 4-seitig sein. In dieser Anleitung wird mit Symbolen angezeigt, welche Schritte zum 3-seitigen und welche
zum 4-seitigen Rahmen gehdren.

Die Montage der Turblatter ist in allen Fallen gleich, weil jedes Turblatt mit einem Anschraubscharnier am Turrahmen befestigt
werden muss. In dieser Anleitung wird das Tlirblatt der BDM 60 montiert, diese Schritte gelten aber auch fir die 2-fligelige
Ausfiihrung oder fiir das Turblatt der KDM 80.

Legend / Legenda / Legende
This manual is only necessary for a three-sided frame.

-_-H\ Deze handeling is alleen noodzakelijk bij een driezijdig kozijn.
/é y Diese Handlung ist nur bei einem dreiteiligen Rahmen notwendig.
o Vi

This manual is only necessary for a four-sided frame.
- \ Deze handeling is alleen noodzakelijk bij een vierzijdig kozijn.
Diese Handlung ist nur bei einem vierteiligen Rahmen notwendig.

Components need to be fastened.
Onderdelen moeten worden vastgemaakt.
Teile miissen befestigt werden.

The object must be adjusted.
Het object moet afgesteld worden.
Das Objekt muss eingestellt werden.

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 10 of 24 metaf[



Assembly wall encompassing frame/ Montage paneelomvattend kozijn / Montage paneelumfassender
Rahmen

Three-sided frame / Driezijdig kozijn / Dreiseitiger Tlirrahmen

Fastening materials for three-sided frame with panels:
4x Bolt M8

' 4x Washer M8

i 24x Self-tapper 4.2x16

4x Countersunk screw 8x60

4x Plug S10

Bevestigingsmaterialen driezijdig paneelomvattend kozijn:
4x Bout M8

4x Sluitring M8

5 - 24x Zelftapper 4,2x16

i 4x Verzonken schroef 8x60

4x Plug S10

Befestigungsmaterial dreiseitiger paneelumfassender Rahmen:
4x Schraube M8

4x Schliering M8

24x selbstbohrende Schraube 4,2x16

' 4x Senkschraube 8x60

1 4x Dlbel S10

Four-sided frame

Fastening materials for four-sided frame with panels:
4x Bolt M8

4x Washer M8

24x Self-tapper 4.2x16

4x Countersunk screw 8x60

Bevestigingsmaterialen vierzijdig paneelomvattend kozijn:
4x Bout M8

4x Sluitring M8

. 24x Zelftapper 4,2x16

4x Verzonken schroef 8x60

Befestigungsmaterial vierseitiger paneelumfassender Rahmen:
4x Schraube M8

4x SchlieRring M8

24x selbstbohrende Schraube 4,2x16

4x Senkschraube 8x60

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 11 of 24 metaﬂ



Three-sided wall encompassing frame / Driezijdig paneelomvattend kozijn / Dreiteiliger
paneelumfassender Tirrahmen

1l

i\[sr .i

— ] I §
| A =T \
i . ®
. -
a :
C
1 B
.'! 'L\@\*—‘l @

3. A: Bolt M8 and ring M8
3. B: Countersunk wood screw and S10 plug
3. C: Fasten self-tapper

‘l ooooo

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 12 of 24 metaflex Meet reliability.
>



Four-sided panel including frame

o “
*—-——-‘ﬂ ﬁ'*-ﬁ—a EH‘§_&H

Al. A: Countersunk screw M6

‘l ooooo

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 13 of 24 metaflex Meet reliability.
>



Assembly assembly frame with reveal finish / Montage montagekozijn met dagkantafwerking / Montage
Montagerahmen mit dagkantafwerking

Three-sided assembly frame

Fastening materials
27x Self-tapper 4.2x16
8x EJOT 6.3x100

Bevestigingsmaterialen
27x zelftapper 4,2x16
8x EJOT 6,3x100

Befestigungsmaterial
27x selbstbohrende Schraube 4,2x16
8x EJOT 6,3x100

Four-sided assembly frame

Fastening materials
36x Self-tapper 4.2x16
8x EJOT 6.3x100

Bevestigingsmaterialen
36x zelftapper 4,2x16
8x EJOT 6,3x100

Befestigungsmaterial
36x selbstbohrende Schraube 4,2x16
8x EJOT 6,3x100

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 14 of 24 metaﬂ Meet reliability.



] —— A 2] ,.7_\h
-~ _ | N
M )
~—
-
— | ‘\_‘-"_
- —_—

B A. Front view

ejot 6.3x100

<,—’*’/—-’%
N .
i
-
H
-\
< B
; 1|
EE\

Doc QA No 10.20.16 Rev. 02 | 12.

3.2020

5. Front view
6. Rear view
7. Front view

5. Vooraanzicht
6. Achteraanzicht
7. Vooraanzicht

5. Vorderansicht

6. Rickansicht
7. Vorderansicht

Page 15 of 24

A. Vooraanzicht
B t/m E. Achteraanzicht

B to E. Rear view

A.Vorderansicht
B t/m E Riickansicht

metafl
94

DOORS

Meet reliability.



Frame VDM with heating ribbon / Kozijn VDM met verwarmingslint / Rahmen VDM mit Heizelement

The frame is delivered with an assembled heating ribbon. The heating ribbon needs to be fastened to the floor and can then be
connected.
The frame below is illustrative for the VDM frame.

Het kozijn wordt geleverd met een geassembleerd verwarmingslint. Het verwarmingslint moet in de vloer aangebracht worden en
dan kan het aangesloten worden.
Het onderstaande kozijn is illustratief voor het VDM kozijn.

Der Rahmen wird mit einem vormontierten Heizelement geliefert. Das Heizelement muss im FuRboden angebracht werden, dann
kann es angeschlossen werden.
Der untenstehende Rahmen dient als lllustration des VDM Rahmens.

Q

S—

A. Technician connecting plug to PE
B. Single heating ribbon
C. Three heating ribbons

A. Monteur stekker aansluiten met PE
B. Enkel verwarmingslint
C. Drie keer verwarmingslint

A. Monteur Stecker anschlieRen mit PE.
B. Einzelnes Heizelement
C. Dreimal Heizelement

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 16 of 24 metaﬂ Meet reliability.



Assembly of door blade / Montage deurblad / Montage Turblatt

T T

In some cases, the lower block will already be mounted on the frame.
The delivered block hinges consist of the following components:

In sommige gevallen is het onderblok reeds gemonteerd op het kozijn.
De meegeleverde blokscharnieren bestaan uit de volgende onderdelen:

In einigen Fallen ist der Unterblock bereits am Rahmen montiert.
Die mitgelieferten Blockscharniere bestehen aus den folgenden Teilen:

)/

3x Lower block
3x Onderblok 0
3x Unterblock

e

3x Upper block
3x Bovenblok
3x Oberblock

.
Lo\

i

6x Cap @ 17
6x Dop @ 17
6x Kappe @ 17

3x Upper cap square
3x Bovendop vierkant
3x Oberkappe viereckig

3x Hinge pin
3x Scharnierpin
3x Scharnierstift

e

6x Bolt M8
6x Fastener M8

6x Bout M8
6x Sluiting M8

6x Schraube M8
6x Verschluss M8

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 17 of 24

metafl
94

DOORS

Meet reliability.



ol M
3x
]| @
F .
a‘l\
A7
3x JZ_‘@;
g |
@:ﬂ O

3x

o

3x

Assembly of door closer (optional) / Montage deurdranger (optioneel)
/ Montage TiirschlieRer (optional)

1x Geze TS4000 door closer
1x Geze TS4000 deurgranger
1x Geze TS4000 TurschlieRer

1x hinge arm
1x Schaararm
1x Scherenarm

4x M5 bolt
2x M6 hex bolt

4x M5 bout
2x M6 inbusbout

4x M5 Schraube
2x M6 Inbusschraube

il

Doc QA No 10.20.16 Rev. 02 | 12.3.2020

Page 18 of 24

metafl
94

DOORS

Meet reliability.




an _ ...
metaﬂex Meet reliability.
‘ | 4

Page 19 of 24

Doc QA No 10.20.16 Rev. 02 | 12.3.2020



Operating instructions
The door is opened using the handle.
Maintenance (every six months)

e  Clean moving parts

e  Adjust door blade

e  C(Clean the rubber profiles

e  Examine of levels of wear of components

Basic maintenance can be carried out either by a Metaflex Doors service technician or by your own personnel. However, a log must
be kept in either case to record maintenance history.

Clean the door components using a mild detergent.
Damage

When a component of the door is damaged, it can be ordered at Metaflex Doors Europe. Contact the sales department at Metaflex
or your local retailer.

Malfunctions

Wedging

There are various potential causes for the door blade becoming wedged. It may be because the floor is not level, or because the
floor surface is uneven. It may also occur that the door blade and the frame become wedged. If the door becomes wedged, the
position of the door blade in relation to the frame can be readjusted. The position of the door blade can be adjusted by means of
the hinges.

Loose handle

If the handle is loose, this can easily be resolved by fastening the Hex bolt on the underside of the handle.

The door closing too slowly or quickly

If the door closes too slowly or quickly for your user situation, you should adjust the door closer. However, it is important that the
door closes, or else the flame retardant function will no longer be effective.

Disassembly

. If present, disassemble the door closer
e Pull the pins out of the hinge

e  Remove the door from the frame

e  Unscrew the screws from the frame

e  Remove the frame components

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 20 of 24 metaf lex Meet reliability.



Gebruiksaanwijzing
De deur wordt geopend met de handel of deurkruk.
Onderhoud (iedere zes maanden)

e  Schoonmaken van bewegende delen

e Deurblad afstellen

e Schoonmaken van de rubberprofielen

e  Onderzoek naar buitengewone slijtage van onderdelen

Het basisonderhoud kan zowel door een servicemonteur van Metaflex Doors als door uw eigen personeel uitgevoerd worden. Wel is
het zaak dat er in beide gevallen een logboek wordt bijgehouden wat betreft de onderhoudshistorie.

Reinig de deurdelen met een mild schoonmaakmiddel.
Schade

Wanneer er schade aan delen van de deur is opgetreden, kunnen deze besteld worden bij Metaflex Doors Europe. Neem contact
op met de verkoopafdeling.

Storingen

Klemmen

Wanneer het deurblad klemt kunnen er verschillende oorzaken zijn. Het kan zijn dat de vloer niet waterpas is of dat het
vloeroppervlak oneffenheden vertoont. Ook kan het zijn dat het deurblad en het kozijn klemmen. Bij het klemmen van de deur kan
de positie van het deurblad ten opzichte van het kozijn opnieuw worden afgesteld. De verstelmogelijkheid om de positie van het
deurblad aan te passen, zit in de scharnieren.

Loszitten van de klink

Wanneer de klink los zit is dit gemakkelijk te verhelpen door de inbusbout aan de onderkant van de klink vast te draaien.

Het te snel of te langzaam sluiten van de deur

Wanneer voor uw gebruikssituatie de deur te snel of te langzaam sluit, dient u de deurdranger opnieuw af te stellen. Het is wel van
belang dat de deur in de sluiting valt, anders komt de brandvertragende werking in het geding.

Demontage

e Indien aanwezig, demonteer de deurdranger
e  Trek de pinnen uit het scharnier

e Neem de deur van het kozijn

e  Draai de schroeven uit het kozijn

e  Verwijder de kozijndelen

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 21 of 24 metaf lex Meet reliability.



Bedienungsanleitung

Die Tur wird mit dem Hebel oder Turgriff getdffnet.
Wartung (alle sechs Monate)

e  Reinigen der beweglichen Teile

e  Turblatt einstellen

e Reinigen der Gummiprofile

e  Prifen auf auBergewdhnlichen Verschleill der Teile

Die Grundwartung kann sowohl von einem Servicemonteur von Metaflex Doors als auch von lhrem eigenen Personal ausgefiihrt
werden. Allerdings muss in beiden Féllen ein Logbuch lber die Wartungshistorie geflihrt werden.

Reinigen Sie Tirteile mit einem milden Reinigungsmittel.

Schiden

Falls Teile der Tiir beschadigt werden, konnen diese bei Metaflex Doors Europe bestellt werden. Kontaktieren Sie die
Verkaufsabteilung.

Stoérungen

Klemmen

Ein Klemmen des Tiirblatts kann verschiedene Ursachen haben. Es kann sein, dass der Boden nicht waagrecht ist oder an der
Bodenoberflache Unebenheiten vorhanden sind. AuBerdem kann es vorkommen, dass das Turblatt und der Rahmen klemmen. Bei
Klemmen der Tiir kann die Position des Tirblatts in Bezug auf den Rahmen neu eingestellt werden. Die Verstellmoglichkeit zum
Verstellen des Turblatts befindet sich in den Scharnieren.

Tiirgriff hat sich gel6st

Wenn sich der Turgriff gelost hat, kann dies leicht behoben werden, indem die Inbusschraube an der Unterseite des Griffs
angezogen wird.

Zu schnelles oder langsames SchlieRen der Tiir

Wenn die Tir unter lhren Gebrauchsbedingungen zu schnell oder langsam schlieBt, miissen Sie den TurschlieRer neu einstellen. Es
ist allerdings wichtig, dass die Tir ins Schloss fallt, da ansonsten die brandverzogernde Funktion nicht garantiert ist.

Demontage

° Falls vorhanden, TiirschlieBer demontieren
Ziehen Sie die Stifte aus den Scharnieren
Nehmen Sie die Tir vom Rahmen

Losen Sie die Schrauben aus dem Rahmen
Entfernen Sie die Teile des Tirrahmens

DOORS

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 22 of 24 metaf lex Meet reliability.



‘ | S books

Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 23 of 24 metaflex Meet reliability.
>



Metaflex Doors Europe BV
Ambachtsstraat 11
7122 MP Aalten
The Netherlands
088 — 14 14 900
www.metaflexdoors.com
info@metaflexdoors.com

daw _ ...
Doc QA No 10.20.16 Rev. 02 | 12.3.2020 Page 24 of 24 metaflex
9


http://www.metaflexdoors.com/
mailto:info@metaflexdoors.com

	Wedging
	Loose handle
	The door closing too slowly or quickly
	Disassembly
	Klemmen
	Loszitten van de klink
	Het te snel of te langzaam sluiten van de deur
	Demontage
	Klemmen
	Türgriff hat sich gelöst
	Zu schnelles oder langsames Schließen der Tür
	Demontage

